e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




—
sy L and

ISUZU

—————— ]
ASCENDER 2003-2008

|
CH-16908 CH-16909
N Suspension Control Arm Suspension Control Arm —
' Front Right Front Left
25786775 25786774
4X2 2002-2006
IS-11104  1S-11105
Ball Joint Ball Joint o -
N :
Front Front Lower ’ v ﬂ
8980058270 98005874 : (&
IS-14100 1S-13103
Stabilizer Link Axial Joint
Front Front -=—s
L=115mm M14X1,5-L=302mm
8979445750 8980557440
|
1S-12101
Tie Rod End
Front
M14x1,5
8973049280
D-MAX 4X2 2007-2012
|
1IS-13133  1S-12141
Axial Joint Tie Rod End
—————f Front Front
M14x1,5-L=294mm 8980565510
8980565500
D-MAX 4X4 2002-2006
| |
IS-14116  1S-14117
Stabilizer Link Stabilizer Link
Front Right Front Left :
L=154,5mm L=154,5mm
8979445680 8979445690

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land ISUZU
]
D-MAX 4X4 2002-2006

IS-16146N  1S-16147N

— Suspension Control Arm Suspension Control Arm
Front Right Upper Front Left Upper
8980058380 8980058390

IS-16148N  1S-16149N

Suspension Control Arm Suspension Control Arm
Front Right Lower Front Left Lower
8980058340 8980058350

IS-12101  1S-16147

Tie Rod End Suspension Control Arm and Ball Joint

Assembly
Front

M14x1,5 Front Left Upper

8973049280 8980058390

IS-16148 1S-16149

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front Left Lower
8980058340 8980058350

1IS-13123 1S-11114
Axial Joint Ball Joint

Front Front Lower
M14x1,5-L=293mm 8980058750

8973048530

1S-16146

Suspension Control Arm and Ball Joint
Assembly

Front Right Upper
8980058380

4X4 2007-2012

IS-16146  1S-16149

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Upper Front Left Lower
8980058380 8980058350

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 5 info@parsrot.com



Rot sy

= Land ISUZU
D-MAX 4X4 2007-2012
|
IS-16148 1S-16147
N Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint A

Assembly Assembly
Front Right Lower Front Left Upper
8980058340 8980058390
IS-16149N  1S-16148N

Suspension Control Arm
Front Left Lower
8980058350

Suspension Control Arm
Front Right Lower
8980058340

IS-16147N

Suspension Control Arm

IS-16146N

Suspension Control Arm

Front Left Upper Front Right Upper
8980058390 8980058380
GEMINI (JT) 1988-1990
| |
HO-12101
Tie Rod End
Front
M12x1,25Rht
53540679004
OASIS 1997-1999
| |
HO-16336 HO-16335
). Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Upper Front Right Upper
GSJ423 GSJ424
Pickup 1981-1987
| |
IS-13508 1S-13509
Axial Joint Axial Joint
hz‘ Front Inner Front =='——_w
M14x1,5-L=253mm M14x1,5-L=274mm
5443500953 8942172213

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



A
&Ilana' ISUZU

1981-1987

IS-12503 1S-11505

1= Tie Rod End Ball Joint

Front Front Upper
M14x1,5Lht D=@17,5mm

8942373511 894472255

»

1981-1988
| |
! IS-11505 1S-11506
Ball Joint Ball Joint
Front Upper Front Upper
D=@17,5mm Lower(1.6Lt.)
894472255 894224553 '
| |
P 1S-12503
b Tie Rod End
Front
M14x1,5Lht
8942373511
Pickup 1985-2002
|
- 1IS-12503 1S-13509
¥ Tie Rod End Axial Joint

L3
Front Front
M14x1,5Lht M14x1,5-L=274mm

8942373511 8942172213

IS-11505 1S-13508
Ball Joint Axial Joint

Front Upper Front Inner
D=@17,5mm M14x1,5-L=253mm

894472255 5443500953

in

1988-2002

IS-11507 1S-11505

Ball Joint Ball Joint

Front Lower Front Upper
894450463 ~ D=917.5mm
894472255

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 7 info@parsrot.com



Rof
= Land ISUZU
1988-2002
|
5 1S-12503
::2 Tie Rod End
Front
M14x1,5Lht
8942373511
1.6L 1981-1987
| |
IS-11516  1S-13509
Ball Joint Axial Joint
Front Front ====t
8944521061 M14x1,5-L=274mm
8942172213
| |
oy IS-12503 1S-11505 !
352 Tie Rod End Ball Joint
Front Front Upper
M14x1,5Lht D=@17,5mm
8942373511 894472255
| |
1IS-13508
Axial Joint
_=‘ Front Inner
M14x1,5-L=253mm
5443500953
FASTER 2WD 1985-2002
| |
! IS-11505 1S-12503 -
Ball Joint Tie Rod End :;'g
Front Upper Front
D=@17,5mm M14x1,5Lht
894472255 8942373511
| |
IS-13509 1S-13508
Axial Joint Axial Joint
==‘ Front Front Inner hz‘
M14x1,5-L=274mm M14x1,5-L=253mm
8942172213 5443500953
1981-2004
|
1IS-11505
Ball Joint

Front Upper

* Name of vehicles, models, logos, OII;nl%‘n4 ers ¢
= ey
D=5

bers and others in this document are used for reference purposes only.
™
A

151

894472255

info@parsrot.com



A
&Ilana' ISUZU

1981-2004

IS-12501 1S-12502
Tie Rod End Tie Rod End

Front Inner Front Outer
M14x1,5Rht M14x1,5Lht

94419408 8944194091

iy

I1S-11517
Ball Joint
Front Lower

94459465

TROOPER 1981-2004

IS-11517  1S-12502

Ball Joint Tie Rod End

Front Lower Front Outer
04459465 M14x1,5Lht
8944194091

1IS-12501 1S-11505
g Tie Rod End Ball Joint

Front Inner Front Upper
M14x1,5Rht D=@17,5mm

94419408 894472255

TROOPER (UBS) 1987-1991

IS-13508

Axial Joint

|
@:=‘ Front Inner

M14x1,5-L=253mm
5443500953

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 9 info@parsrot.com






